H & 0l & AHS B Ml A

20238 =& 3 3| LEta||, JIEI SR, SIILSE3H JISX 2t

A JIEXE

M J|1g4dE XNE

SA - HY - S9I(3) - HIRAY - BES o ar 7| 3 o HDS2
JIg X2 ot 56,737,742 52,828,264 3,909,478
= 3,121,380 3,141,380 /20,000
[ 790,000 790,000 0
T 4,182,638 3,613,048 569,590
o 48,531,724 45,171,836 3,359,888
= 112,000 112,000 0
gdd X 142,980 166,480 A\23,500
= 136,380 156,380 220,000
o 6,600 10,100 A3,500
JIEAE g2 =4 142,980 166,480 A\23,500
= 136,380 156,380 220,000
o 6,600 10,100 A3,500
SaJY SSHFA01EY 2 (KHAl) 6,600 10,100 A3,500
201 er=3| 6,600 10,100 A3,500
03 A2 b 0 3,500 A3,500
OsAJ|g SSHY K0l H2
38 0a 0 3,500 A3,500
saJlg SSHEI0E 29 136,380 156,380 £20,000
= 136,380 156,380 220,000
307 212+01& 136,380 156,380 220,000
= 136,380 156,380 A20,000
10 AlISXAEEE 22X 136,380 156,380 220,000
OB (MY SSHE oelold
) 2Ll XY 136,380 156,380 220,000
ekl &3 115,580,000 115,580 125,580 10,000
= 115,580 125,580 10,000
-z 3l d&d 20,800,000 20,800 30,800 10,000
= 20,800 30,800 10,000
NS MHANE 2,705,810 2,766,630 60,820
& 1,053,765 1,084,175 /30,410
s 1,540,045 1,570,455 A30,410
= 112,000 112,000 0
JBE A 2,705,810 2,766,630 260,820
= 1,063,765 1,084,175 230,410
[Ea 1,540,045 1,570,455 A30,410
= 112,000 112,000 0
g A HE 2XAHH 1,848,682 1,909,502 60,820
LS 868,341 898,751 A30,410
s 868,341 898,751 /30,410
= 112,000 112,000 0
402 QI2F X201 & 1,436,682 1,497,502 260,820
T 718,341 748,751 /30,410
o 718,341 748,751 /30,410
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ST ISR
M NP S
ol JIgEEXA (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Off &4 & A Hws2
02 QIR 2 AL E X (0IETHR) 1,436,682 1,497,502 260,820
OJ1g E=0H HH XA
33 1,436,682,000& 1,436,682 1,497,502 260,820
< 718,341 748,751 130,410
= 718,341 748,751 130,410
I EXH 3,165,840 2,365,840 800,000
= 790,000 790,000 0
< 873,000 273,000 600,000
s 1,502,840 1,302,840 200,000
EINEEN 3,165,840 2,365,840 800,000
= 790,000 790,000 0
< 873,000 273,000 600,000
= 1,502,840 1,302,840 200,000
XY BX= 3,135,000 2,335,000 800,000
z 790,000 790,000 0
< 873,000 273,000 600,000
= 1,472,000 1,272,000 200,000
402 QIZEAHZ01H 3,135,000 2,335,000 800,000
z 790,000 790,000 0
[ 873,000 273,000 600,000
= 1,472,000 1,272,000 200,000
02 QI 2 AL EZ(0IETHR) 3,135,000 2,335,000 800,000
OXNgEANEN 2x5 3,135,000 2,335,000 800,000
-DBSHOIE! HHIS A 2X3(1XH)
1,400,000,000& 1,400,000 1,400,000
< 600,000 0 600,000
= 800,000 0 800,000
-St=2J|SSAF HBUHIEX BX3(241)
Zd 03 0 600,000 £A600,000
ARAEX] XIR 3,808 7,680 N3,872
AHHER 28 X 3,808 7,680 13,872
AHAEHT] 2t 3,808 7,680 N3,872
202 04l 3,808 7,680 13,872
01 =LH0i 3,808 7,680 23,872
OdtgetXizel L= o
23 3,808,000 3,808 7,680 13,872
S3MHEX 24 & 2 59,563 584,415 11,148
S3AMYE 2L (s3ASHISESNH) 595,563 584,415 11,148
SSAAEX AIE e 588,432 578,788 9,644
401 AlEHIYL S THYI 563,388 553,744 9,644
01 Al&ZHI 529,575 520,000 9,575
Os34UEX KA+
Z& 509,575,000& 509,575 500,000 9,575
03 AlZS0HYI 33,813 33,744 69




S JIRRIE D
Hu: SDUYUCN T4 U 2Y
Sl ST 2Y (ST SHEIH) (cHol: 22)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
OMRET RAIRE] AlE ]
2% 3,812,9409 3,813 3,744 69
SDAACK 2% 0] 7,131 5,627 1,504
801 0l 7,131 5,627 1,504
01 EHofH ] 7,181 5,627 1,504
OSTAATXISSAIY S5 Olblbl
2% 7,131,008 7,181 5,627 1,504
NIET 24 2 2Y 19,130,421 20,727,096 A1,59%,675
2 2,985,000 2,985,000 0
= 465,000 485,000 0
2 15,690,421 17,287,096 A1,59%,675
g At EhR] 22)(BIIQSEaIH ) (BSHL S5 H) 3,288,941 4,880,616 A1,59%,675
g ol 22 500 1,500 1,000
203 YL FTH| 500 1,500 1,000
CREESEEESST 500 1,500 1,000
OAIZI@ | 2% 500,009 500 1,500 A1,000
CHA AFXT? SARZ A 3,169,625 4,765,000 A1,59%,375
201 B2t 40,000 45,000 5,000
01 AL 22| 40,000 40,000 0
O£ MNP 2 B2
217 10,000,002 10,000 5,000 5,000
Ol AFXT 2YBX 42 448
A% 30,000,000 30,000 35,000 £5,000
03 BAL2 | 0 5,000 5,000
O+ &FXT =34 (s 2
3 02 0 5,000 5,000
401 Al&HIZ S CHE] 3,119,625 4,620,000 A1,500,375
01 Al 2,989,625 4,440,000 A1,500,375
Oli4 AEXT TAIHLAY THBA
A% 2,9%9,625,0002! 2,989,625 4,440,000 A1,500,375
408 RXISHH SRH=O0I & 0,000 100,000 290,000
02 DI S OICHEI R E 2/ AL 0,000 00,000 290,000
O A4FXT SAINLAY Sat| D&
3 247 10,000,000 10,000 00,000 £90,000
X012 Bt 2l 5,700 6,000 2300
207 AL 5,700 6,000 2300
01 22EAH| 5,700 6,000 A300
OBXDI2 ZYARTI} S
243 5,700,002 5,700 6,000 A300
NEEINEEE 16,846,480 16,846,480 0
= 2,985,000 2,985,000 0
< 465,000 485,000 0
2 12,406,480 12,406,480 0




2A:

JIg X2t

M AYEHR =4 2 29
Chelr MAER AIEXH EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
g2 % STl AU SEEFT HEAY 1,765,380 1,765,380 0
(HEAY)
401 AlEBIYL LY 1,765,380 1,765,380 0
01 AlZHI 1,240,380 1,500,380 260,000
Ode=d=3H A B M SYESE A
A (X EH (20,219 £H1828,316, 738 )
33 1,240,380,000& 1,240,380 1,500,380 260,000
02 2feld| 525,000 265,000 260,000
Ode=d=2H A de|MH SYEST A
AL (M EH(21E EHI 138,649,054%)
525,000,000 525,000 265,000 260,000
BH2IZHIOIBXE L) 54,127 56,567 N2,440
J12ZH(SSHLSSSIH) 23,260 25,700 12,440
JlI=2&Hl 23,260 25,700 22,440
201 eer23| 23,260 25,700 N2,440
01 AF2-2t2ltl 12,560 15,000 A2,440
OAtR2tke|t] 12,560 15,000 A2,440
-J|22g&3 35 0 0 2,000 22,000
~ZAN HIE &% 360,000 360 800 A440
HREs(OIg X2t 26,525,986 21,630,474 4,895,512
BEXEOIGXI21) 1,196,442 1,191,055 5,387
HMEEO0I™ BEXAIY Bretz 10,761 5,374 5,387
802 gtet=JIEt 10,761 5,374 5,387
02 Al - EHIEE=SEHEZ 10,761 5,374 5,387
Ol E=012 HHAY EX3 HHETH
3,813,000& 3,813 0 3,813
Ol E=0H MM EXZ LMO0IAH
1,574,0002 1,574 0 1,574
WEHARE OIS X&) 448,957 558,832 109,875
SSUHHXSEH HES 448,957 558,832 109,875
701 JIEtI HSHES 448,957 558,832 109,875
01 JIEteI AR ES 448,957 558,832 A 109,875
O3 SEIH dES
3F 448,957,000 448,957 558,832 109,875
WRHHXIE(SSHLSLE) (SSHLSESIA) 10,337,854 5,337,854 5,000,000
LESH S 10,337,854 5,337,854 5,000,000
701 JIEtRI HSHES 10,337,854 5,337,854 5,000,000
01 JIEt=I AN ES 10,337,854 5,337,854 5,000,000
Oogets|l dE=
Z& 10,337,854,000& 10,337,854 5,337,854 5,000,000
HWRES(sSMUAHXSESIAH) 14,690 124,565 109,875
UWRHHXE(SSALHISESH) (SSML X SLES 0 109,875 109,875
Al
SEMHIAESIIZ HE 0 109,875 109,875




A JIEXE 0
M NHReS(sSHYHISEIAH)
&2l HRHAXIS(sSMSHXNELE) (sSA4LSHRSELSE) (CHe ® <)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
704 OIE = 109,875 109,875
01 0&= 109,875 109,875
OsgHEtdEst DIz HE=
34 02 109,875 109,875




